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1 BEBHOE
(1) BEEINEE
ZHRARE 0
STHaE 4,640,000 4,350,000 290,000
ZEXRRE 3,990,000 3,750,000 240,000
ERBZMRE 0 0 0
BP=EZNSE 650,000 600,000 50,000
ZHREEE 0 0 0
TWMEME 2,100,000 2,350,000 -250,000
HUNZE 1,000 1,000 0
ZEFA 1,000 1,000 0
HUREE 0 0 0
EEINEEET 6,741,000 6,701,000 40,000
(2) BEER
[ESPEREHRESS 620,000 650,000 -30,000
=& 0 0 0
REXBRE 100,000 100,000 0
BIEERE 5,000 10,000 -5,000
HERE 5,000 50,000 -45,000
Bt ik 100,000 150,000 -50,000
XiaEE 410,000 340,000 70,000
HHEEXE 900,000 800,000 100,000
E-% ] 0 0 0
WREXBE 0 0 0
BIEERE 15,000 15,000 0
HERE 10,000 0 10,000
Hige 0 0 0
b2 N=Fi=k 875,000 785,000 90,000
E - L|REE 1,645,000 1,625,000 20,000
E-% ] 0 0 0
WREXBE 100,000 190,000 -90,000
BIEEMRE 90,000 100,000 -10,000
HERE 185,000 75,000 110,000
Btk 500,000 500,000 0
SAN-Eic kA 770,000 760,000 10,000
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(B M)
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e 3,942,000 4,112,000 -170,000
RiE 400,000 400,000 0
WREXBE 50,000 50,000 0
BIEERE 80,000 80,000 0
HERE 70,000 70,000 0
AR 72,000 72,000 0
XIFHH 140,000 60,000 80,000
aHFEH 3,130,000 3,380,000 -250,000
Rit®& 0 0 0
BEER 7,107,000 7,187,000 -80,000
FTfi18 25 <5 R 22 A L R IR 1R R A -366,000 -486,000 120,000
B aliEi-EAt gy 0
LHIRRERREE -366,000 -486,000 120,000
2 BENMEBDOE

(1) EEHUNE 0 0 0
BRI 0 0 0
(2) ¥BENER 0 0 0
BENER 0 0 0
LR B 0 0 0
5| B2 B — AR IE LR BA REIRIRIAE -366,000 -486,000 120,000
L H— AR IERRBA EE IR RAR -366,000 -486,000 120,000
— R ERGTEHEERS 1,689,042 1,490,985 198,057
— R IERRBIEEAR R = 1,323,042 1,004,985 318,057
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L HAYE E IE KBS EE 1S R A 0 0 0
EEERMERERS 0 0 0
IR EERBM RS 0 0 0
I EREAEEARIES 1,323,042 1,004,985 318,057




